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Solve each problem.

1) 5,261 + 442 = 5,703

2) 39 + 1 = 40

3) 569 + 195 = 764

4) 123 + 13 = 136

5) 1,926 + 1,869 = 3,795

6) 1,992 + 49 = 2,041

7) 3,436 + 52 = 3,488

8) 937 + 791 = 1,728

9) 3,821 + 978 = 4,799

10) 76 + 32 = 108

11) 575 + 53 = 628

12) 7,916 + 3,689 = 11,605

13) 36 + 9 = 45

14) 63 + 4 = 67

15) 862 + 21 = 883

Answers

1. 5,703

2. 40

3. 764

4. 136

5. 3,795

6. 2,041

7. 3,488

8. 1,728

9. 4,799

10. 108

11. 628

12. 11,605

13. 45

14. 67

15. 883
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Solve each problem.

1,728 108 2,041 5,703 3,488

764 40 4,799 3,795 136

1) 5,261 + 442 = 5,703

2) 39 + 1 = 40

3) 569 + 195 = 764

4) 123 + 13 = 136

5) 1,926 + 1,869 = 3,795

6) 1,992 + 49 = 2,041

7) 3,436 + 52 = 3,488

8) 937 + 791 = 1,728

9) 3,821 + 978 = 4,799

10) 76 + 32 = 108

Answers

1. 5,703

2. 40

3. 764

4. 136

5. 3,795

6. 2,041

7. 3,488

8. 1,728

9. 4,799

10. 108
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